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KaowN: A known ul.m;m.f of a;ui u;d.trguu o comsfaut. Emsuva [yrocess
ina piston- iwder assem €5iuniing at a specchjed cthe
ua{u.yre. The weork is knnwn.ﬂ gntng peet Spectiue

Einp: Debermive +he final volume.

A
ScHematic & GIWEN DATA P s, -
— ws|pdl==I15kT
TR vi= 0 m¥y 7/ d ‘E,F
| as | we-ISa /
® o0 | p=Star |~
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known : Warm air cools slowly i a piston - eylinder a.:mmil:j from o known
initial volume 4o o known Hinal volume, During the process, a
sPru‘ng erarts a force ew the
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ASSUMPTIONS : (1) The air js a closed system.(2) The process oacwrs slowly, 50
+herve is no accelevation of Hha piston.(3) Theve is ho frichon between the
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Euown A gas undergoes a process in o piston-cylinder assembly. The
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Known : A closed 3151-::.1-“. miwﬁaes & ujr,le mmia{-'mj ot Ywee processes.

EIND: Sketeh the cucle ow o p-Vdiagram awd cabeulote the wet work
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(b) Use Bg. 2.1 4o evaluate the wovk for process (-2
W, = I\'l av = const. Ivi av . P W o {V:-. - u"-“l)
- v, 4 v, YL v N a1

= (5o Jbe )3 w) o )L (] i)t Bl '
h C-.4% I RRCELLT

== 38,2 Bhu
For grecess 2-3 % W, ,=2© .
Fi.hﬂ-ll‘ﬂ. }E‘D\F ?th:ﬂi;:-l use Egb.l.l."l .'.fil.: Iqa?du a ?.{uru:\}

W, =60 2Ry 3. ) H3 s i Cera | oL
n @) e [3 l} I ‘ Hi 113".‘-"“ +l& ,‘L’u-

-Tm WU-!#IE. = WI'L*. w?—'l+w'i| = -l‘i-"lq B‘h.ﬁ..-: WQ!,:I‘___

() For +he everall encle & saele = Weyele
et @y Qs ‘Wuﬁdz
B=x = wu—lu\t_ &% Y
For process 3-1 ¢ AKELAPE + (T, -UzY) 2 Q4,~- Wy, = 0, 270,75, v Wj,
Bz, =41 +18.51 =+65,.21 Bha
ﬁh.‘“‘ﬁ Bas = w"‘ﬁdz - Qs = ~VA.19 -65.21 = -85 Bh"’*__"ﬁ



